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Question 1a)

Patricia is 20 years old. She has a two-year-old daughter called Joy,

Patricia has recently separated from her long-term boyfriend and has decided
e mave aut of the flat she shared with him. Patricia has decided to live wwith

her grandmother, Beatrica,

Beatrice is 78 years old and has been widowed since her husband, Derek, died
at the age of 56,

Higher scoring response
1 (a) Premature death can be an unpredictable life event.

Identify two other life events that can be unpredictable.

1 Qed\m-’\uﬂwj .

. A concise answer , but one that meets the requirements of the command verb Identlfy s
: Brevity in the shorter format questions is an effective time management technique which:
: is frequently seen in the most successful candidates’ responses. .

Lower scoring response

1 [a) Prermature death can be an unpredictable life event.
Identify twa other life svents that can be unpredictabile.
1z
e BN T e T
2 Berevennends
E A common mistake, as the candidate repeated the stem which utilises premature death
: as an example. :
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Question 1b)

Higher scoring response

(b) Beatrice is in the life stage of later adulthood.

Identify four life stages Beatrice has already passed through.

You must include the correct age range for each life stage.

(4)
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The candidate clearly understands the requirement of the question.

Gaining full marks in knowledge based questions (which frequently use the command
verb ‘identify’) is vital for all candidates, but especially those who may struggle to
provide higher level/higher scoring answers in the longer format questions.

lIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIlIIIlIIIlIIIlIIIlIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII‘

M.

Lower scoring response

(b) Beatrice is in the life stage of later adulthood.
Identify four life stages Beatrice has already passed through.

You must include the correct age range for each life stage.
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: The candidate has identified four life stages, but does not include the correct age ranges, :
- as required, and is therefore not meeting the demands of the question.
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Question 1c¢)

Joy is two years old and will be going through important stages of growth and
development

Explain the difference between growth and development (4 marks)

Higher scoring response
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:' A short, but accurate, answer that clearly meets the requirements of the question and
: the command verb ‘explain.’ The learner has correctly explained the difference with

. appropriate examples in expansion. :
¥
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v Candldlates who dropped marks on this question generally did not explain both factors
:This is a typical example of a one sided answer.
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Question 1d)
Joy is now walking and can use a spoon to feed herself.

Describe the difference between fine and gross motor skills (4 marks)

Higher scoring response
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' A concise and accurate answer that clearly meets the requirements of the question, .
: usmg clear and accurate examples to demonstrate the difference between fine and gross -
* motor skills . :

: The candidate does not demonstrate full understanding of the requirements of the
: question and does not describe the differences as required by the question with some :
: inaccuracies e.g. waving is not a fine motor skill. :
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Patricia left her sixth form when she became pregnant and did not complete her
Btec Health and Social Care course.

Question 1le)

As Beatrice has offered to look after Joy and take her to playgroup, Patricia has
now decided to return to college and complete her education.

e) Discuss the impact on Patricia’s self-concept of returning to education. (6
marks)

Higher scoring response
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This candidate provides a focussed answer that is clearly related throughout to the
requirements of the question, and the command verb ‘discuss,’ supported by a range of
relevant examples that are appropriately expanded.
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Lower scoring response
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This candidate does not fully engage with a discussion of the impact on Patricia’s self-
concept of returning to education.

Some candidates focussed on social factors or intellectual factors without linking these to
self-concept, or provided extensive definitions of self-concept that were not required.
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Due to her mother attending college, Joy now spends more time at
playgroup, or being looked after by her grandmother or family friends.

Question 1f)

f) Discuss the impact of effective bonding on an individual’s emotional and
social development. Include relevant theories. (10 Marks)

Higher scoring response
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" A level 3 answer (7-10 marks) requires that candidates demonstrate: accurate
knowledge and understanding of relevant information with a few minor omissions;
evidence of application demonstrating linkages and interrelationships between factors
leading to a supported judgement/judgements being made; displays a balanced
evaluation, demonstrating an awareness of competing arguments, leading to conclusions
and demonstrates the use of logical reasoning, clarity and appropriate specialist
technical language. This example is detailed and shows that the candidate clearly
understands the theories involved and is able to accurately apply these to the scenario
and discuss the implications of the situation.
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Lower scoring response

s Alevel 1 answer (0-3 marks) demonstrates isolated knowledge and s
: understanding of relevant information; there may be major gaps or omissions; .
provides little evidence of application and links between relevant information.
Evaluation likely to consist of basic description of information and, although .
: conclusions may be presented they are be likely to generic assertions rather than
supported by evidence.

. In the example above, despite its length and the inclusion of some specialist
terminology, the answer shows limited understanding of the theories or the
application/discussion of these theories in relation to the scenario.
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Derek, Beatrice’s husband, died at the age of 56 from cardiovascular disease. Derek’s father

and grandfather also died prematurely from similar diseases.

Derek worked long hours as taxi driver, which he found very stressful, and was often unable to

eat healthily or find time to exercise.

COROMNARY HEART DISEASE BY SEX
ANMND AGE

Caaths
S0 000

M Male Age
Hl Farmalks

SOURCE: BEleombo

a) Using the data from the graph, identify:

i) At which age more women than men die from heart disease?

35 000
30,000
25 000
20,000
15,000
10,000
5000 I I
ol - | |- |

35 35-44 45-54 55-84 65-74

ii) At which age do the least number of men and women die from heart disease? (2

Marks)

Higher scoring response
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sWhilst the question only asks candidates to ‘identify’ the data, (and most learners just
“included the numbers in their response e.g. 75+; -35) the format the data is presented
sin (as above) is irrelevant if the information is accurate; although this level of detail is

* not required.
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Lower scoring response
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: This candidate misreads the information on the graph.
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Question 2b)

b) To what extent can social factors impact on an individual’'s diet? (4 Marks)

Higher scoring response
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: Clear and thorough answer that was typical of the reponse of stronger learners and
- meets the requirements and discussing ‘To what extent’ in relation to a range of relevant
- examples that are correctly identified and expanded. :
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Lower scoring response
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This response provides only one valid example and therefore fails to meet the demands
of the question’s command verb ‘To what extent’, and, as a four mark question there is
the expectation of 2 appropriate examples in order to be awarded full marks.
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Question 2c¢)

c) Describe two genetic predispositions that may impact on an individual’s
development (4 Marks)

Higher scoring response
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The stronger answers had a clear identification and expansion.

This answer has a thorough description of two genetic diseases and clearly describes
their impact on individual development.
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Lower scoring response
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This is typical of the lower scoring answers, as it only actually describes one disease
(brittle bone disease); colour blindness is not a disease and the misidentification of
genetic diseases was a common error in the lower scoring responses.
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Question 2d) Examine the importance of genetic factors in determining health
and well-being (10 marks)

Higher scoring response
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A nicely balanced Level 3 argument that clearly shows evidence of interrelationships with
regards to the question and a balanced evaluation, demonstrating an awareness of
competing arguments, leading to conclusions and demonstrates the use of logical
reasoning, clarity and appropriate specialist technical language, that clearly meets the
requirements of the command verb ‘To what extent.’
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Lower scoring response
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! A level 2 answer (4-6 marks) demonstrates: accurate knowledge and understanding of
relevant information with a few omissions; evidence of application demonstrating some
linkages and interrelationships between factors leading to a judgement/judgements
being made; evaluation is presented leading to conclusions but some may be lacking
support and demonstrates the use of logical reasoning, clarity, and appropriate specialist
technical language.

This question was often misconstrued by candidates, who — with the exception of the
strongest candidates- did not explicitly tackle this question in relation to the nature
versus nurture debate and these responses primarily produced one-sided answers solely
focussed on genetic factors, as in the example above, which do not fully meet the
command verb ‘To what extent.’
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Question 2e)

Beatrice misses Derek and, since she retired from her job as a teaching assistant in a primary school,
has not socialised with many other people.

However, since she has started to look after Joy she has begun to meet people and develop new
interests and has now started to attend local arts and crafts clubs.

Evaluate, with reference to relevant theories, the importance of maintaining
social interaction in later adulthood for individual health and well being (10

marks)

Higher scoring response
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“----------------------------------------------------------------------------------------------..

-Good evaluation of competing theories, as requested by the command verb, that

: demonstrates accurate linkages and evidence of interrelationships that place the

:candidate in Level 3.

S
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The learner provides a balanced argument that has selected and organised information
using appropriate knowledge and concepts and the learner was able to justify and evaluate
hIS knowledge and information in relation to the question.

'------------------------------------------------------------------------------------------------‘

Lower scoring response
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A good Level 2 response is seen here, which lacks the detailed evaluation of the theories

and the awareness of competing arguments and balanced evaluation, leading to
conclusions, that are required to reach Level 3.

Level 2 responses generally lack the ability to sustain and articulate arguments and views
concisely and professionally, in order to justify and evaluate their response to the same level

as those awarded as a Level 3 response.
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Since she has returned to college, Patricia has had to reduce the hours she
works as waitress in the local Italian restaurant. This means that she has a
reduced income.

Question 3a)

To what extent can a reduced income impact on Joy’s intellectual development?
(4 marks)

Higher scoring response
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Clear examples, such as the one above, include 2 relevant examples that are
appropriately expanded to meet the requirements of the command verb ‘To what
extent.’

The stronger answers had a clear identification and expansion. This answer has a :
thorough description of two areas and clearly describes their impact on Joy’s intellectual :
development. :

----------------------------------------------------------------------------------------------------
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Lower scoring response
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A partial answer that fails to fully meet the requirements of the question; candidates
should provide at least two appropriate examples. This response is typical of the lower
scoring answers, as it includes examples that are not appropriately differentiated or
expanded.
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Joy’s development will see her pass through several stages of play in infancy
and early childhood.

Question 3b)

(b) Explain, in the correct order, the stages of play that Joy will pass through
(6 marks)

Higher scoring response
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------------------------------------------------------------------------------------------------------

A clear answer that was typical of the answers provided by the stronger candidates.

The candidate clearly explains the stages of play, including 3 clear identifications that are
:'accompanied by concise yet accurate expansions.

.
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Lower scoring response
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The candidate has clearly misunderstood the requirements of the question and merely
mentions 3 types of games or ‘play’ that Joy may be involved in, which is not what the

question is asking for.
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Question 3c¢)

Joy is now starting to speak clearly.

c) Evaluate, with reference to relevant theories, the factors that can
influence language development (10 marks)

Higher scoring response
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A good answer with enough adequate evaluation/logical reasoning to reach the top of
Level 2. However, the response lacks the detailed evaluation of the theories and the
awareness of competing arguments and balanced discussion, leading to conclusions, that

would provide the depth, detail and accuracy to the level required to reach Level 3.
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Lower scoring response
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Whilst the candidate has provided a reasonable answer, it fails to demonstrate any more
than isolated knowledge and subsequently does not move beyond Level 1. Responses at
this level frequently select and organise information using some appropriate knowledge,
occasionally including theories/models in relation to human development, but do not
evaluate or expand this information to a level that warrants a higher mark band.
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Question 3d Patricia has now completed her studies and has picked up some
extra work shifts in the restaurant whilst she waits to go to university. Beatrice
now looks after Joy five days a week.

Discuss the impact on Beatrice’s health and well being of looking after Joy.(10
marks)

Higher scoring response
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This candidate shows good application of knowledge that demonstrates the level of
evaluation, linkages an evidence of interrelationships that firmly places the candidate in
Level 3.

There is a good discussion of a range of areas related to health and well being, as
requested by the command verb, that demonstrates accurate linkages and evidence of
interrelationships that place the candidate in Level 3. The learner provides a balanced
argument that has selected and organised information using appropriate knowledge and

: concepts and the learner was able to justify and evaluate this knowledge and information in

relat/on to the question. o
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Lower scoring response
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;’A Level 1 response that demonstrates isolated knowledge with little evidence of the appllcatlon
= of this knowledge or the evaluation required to score higher marks.

- Responses at this level frequently select and organise information using some appropriate
: knowledge, occasionally including theories/models in relation to the selected scenario, but
» do not evaluate or expand this information to a level that justifies a higher mark band.

.
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